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X il A THRHA 4 EIFEIERR A R
%
1 R B, 150, 430, 000 — 150, 430, 000]  26. 2
2HEEHERBRE S 44, 000, 000 = 44, 000, 000 7.7
3 5 E 5 B 21, 802, 000 — 21, 802, 000 3.8
4 H 5 8 H R AT & 1, 841, 000 — 1, 841, 000 0.3
5H# 5 AR T B 120, 600, 000 — 120, 600, 000]  21.0
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6% i X & & 255, 000 — 255, 000 0.0
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8 fi Bt Kk O F Hot 7,868, 717 — 7,868, 717 1. 4
OFE HE X H <« 58, 572, 590 5,026, 452 63,599,042 11.1
1084 B I A 461, 000 — 461, 000 0.1
11 % it & 18, 700 — 18, 700 0.0
12 A A & 15, 192, 884 — 15, 192, 884 2.6
13 4% 24 & 1 312, 819 312, 820 0.1
14 §& I A 58, 276, 244 380, 270 58, 656, 514]  10. 2
15 & & 81, 623, 000 3, 513, 000 85, 136, 000] 14.8
H W & 60, 023, 000 3, 513, 000 63, 536, 000] 11.1
iR e B Bt A 21, 600, 000 — 21, 600, 000 3.7
& 2t 564, 393, 000 9, 543, 826 573,936, 826] 100.0
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1 B =] L= 133, 508, 229 - 133,508,229 23.3
5 5. A 120, 693, 742 — 120, 693, 742 21.1
B Bk + M 12, 749, 523 — 12, 749, 523 2.2
B &k OB E & 64, 964 — 64, 964 0.0
o B B OB OB 109, 855, 792 9, 301, 266 119, 157,058 20.8
— R N E T OE 61, 775, 411 6, 037, 575 67,812,986 11.8
EEMEBRERFE 3, 914, 703 2, 057, 028 5,971, 731 1.1
— M B M F ¥ 32, 861, 762 79, 196 32, 940, 958 5.7
NEKREEHEIBFE 3, 614, 649 409, 180 4, 023, 829 0.7
HmKEHRIHEE 39, 200 — 39, 200 0.0
EH B B F X B
g=| #H 4 6, 787, 375 518, 787 7, 306, 162 1.3
2 3 BT % 862, 692 199, 500 1,062, 192 0.2
+ KX W &
OB M O B 1,812, 217 — 1,812, 217 0.3
— BT OB R B 225, 640, 177 242, 560 225,882,737  39.3
EH E # B o
%) 3 ' D 74, 560, 585 69, 560 74,630,145 13.0
EH E # B o
72 A ' D 151, 079, 592 173, 000 151, 252, 592]  26.3
7N & & 93, 576, 585 — 93, 576,585 16.3
& 2 564, 393, 000 9, 543, 826 573, 936, 826] 100.0
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1 % = & 1,199, 102 — 1,199, 102 0.2
2 % & 74,571, 244 — 74,571,244 13.0
34 H KR OB B 24, 282, 701 10, 000 24, 292, 701 4.2
4 BEX{EAR—VE 6, 174, 187 75, 000 6, 249, 187 1.1
5 R & u & 86, 221, 576 394, 366 86, 615,942] 15.1
64 & R K % 2, 557, 348 — 2, 557, 348 0.5
TR L % B B 41, 177, 859 2717, 100 41, 454, 959 7.2
8 &l yin & 2, 740, 493 225, 000 2, 965, 493 0.5
9B M K E X B 35, 047, 426 1, 920, 828 36, 968, 254 6.5
10 + A & 66, 183, 231 6, 232, 352 72,415,583 12.6
11 % £ % 25, 137, 935 — 25, 137, 935 4.4
12 # =) & 101, 209, 650 — 101, 209, 650]  17.6
13 | #BH H & 3, 958, 336 409, 180 4, 367,516 0.8
14 /8 & % 93, 731, 912 — 93,731,912| 16.3
15 ¥ i # 200, 000 — 200, 000 0.0
& 2t 564, 393, 000 9, 543, 826 573, 936, 826] 100.0




